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Cuadro 4 (continuación 6)/Table 4 (continued 6)
Brasil: tablas abreviadas de mortalidada

 Brazil: abridged life tables 
a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.026 0.025  100 000  2 548  97 779 0.973 b 6 954 686 69.5
1 4 0.001 0.005  97 452   507  388 490 0.996 c 6 856 907 70.4
5 5 0.000 0.002  96 945   182  484 269 0.998 6 468 417 66.7

10 5 0.000 0.002  96 763   188  483 343 0.995 5 984 148 61.8
15 5 0.001 0.007  96 575   721  481 071 0.990 5 500 805 57.0
20 5 0.002 0.012  95 854  1 141  476 417 0.988 5 019 734 52.4
25 5 0.003 0.013  94 713  1 213  470 533 0.986 4 543 317 48.0
30 5 0.003 0.014  93 500  1 351  464 123 0.984 4 072 784 43.6
35 5 0.004 0.018  92 149  1 651  456 616 0.979 3 608 661 39.2
40 5 0.005 0.024  90 497  2 140  447 136 0.972 3 152 046 34.8
45 5 0.007 0.033  88 357  2 875  434 596 0.961 2 704 910 30.6
50 5 0.009 0.045  85 482  3 822  417 852 0.946 2 270 313 26.6
55 5 0.013 0.064  81 659  5 215  395 259 0.924 1 852 461 22.7
60 5 0.018 0.089  76 444  6 778  365 278 0.894 1 457 201 19.1
65 5 0.027 0.126  69 667  8 745  326 471 0.848 1 091 923 15.7
70 5 0.040 0.182  60 921  11 078  276 912 0.784  765 452 12.6
75 5 0.059 0.258  49 844  12 850  217 092 0.688  488 540 9.8
80 5 0.095 0.384  36 993  14 217  149 426 0.549  271 448 7.3
85 5 0.159 0.560  22 777  12 755  81 996 0.387  122 022 5.4
90 5 0.252 0.734  10 021  7 351  31 729 0.239  40 026 4.0
95 5 0.371 0.864  2 670  2 306  7 585 0.086 d  8 298 3.1

100 ω 0.511 1.000   364   364   712   712 2.0
Mujeres/Females

0 1 0.019 0.018  100 000  1 833  98 382 0.980 b 7 714 634 77.1
1 4 0.001 0.004  98 167   359  391 725 0.997 c 7 616 252 77.6
5 5 0.000 0.001  97 808   117  488 750 0.999 7 224 528 73.9

10 5 0.000 0.001  97 692   98  488 213 0.999 6 735 777 68.9
15 5 0.000 0.002  97 594   186  487 504 0.998 6 247 564 64.0
20 5 0.001 0.003  97 408   259  486 393 0.997 5 760 060 59.1
25 5 0.001 0.004  97 149   341  484 892 0.996 5 273 667 54.3
30 5 0.001 0.005  96 808   467  482 872 0.994 4 788 775 49.5
35 5 0.001 0.007  96 341   673  480 021 0.991 4 305 904 44.7
40 5 0.002 0.011  95 667  1 025  475 774 0.987 3 825 883 40.0
45 5 0.003 0.016  94 642  1 528  469 392 0.980 3 350 109 35.4
50 5 0.005 0.024  93 115  2 223  460 015 0.970 2 880 717 30.9
55 5 0.007 0.035  90 891  3 213  446 423 0.956 2 420 702 26.6
60 5 0.011 0.053  87 678  4 617  426 849 0.935 1 974 279 22.5
65 5 0.016 0.079  83 062  6 526  398 993 0.902 1 547 430 18.6
70 5 0.025 0.120  76 536  9 176  359 737 0.847 1 148 437 15.0
75 5 0.042 0.190  67 359  12 789  304 822 0.763  788 700 11.7
80 5 0.069 0.294  54 570  16 070  232 673 0.642  483 878 8.9
85 5 0.116 0.448  38 500  17 255  149 359 0.490  251 205 6.5
90 5 0.188 0.623  21 244  13 227  73 154 0.334  101 846 4.8
95 5 0.286 0.780  8 017  6 250  24 462 0.147 d  28 691 3.6

100 ω 0.418 1.000  1 767  1 767  4 230  4 230 2.4

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


